el atiraje MA103 Quiz 2 Sections (1.6,1.7,2.1,2.2)

Name___ 30 whisng

--Solve the equation.

o  Dox-(x-1)=2 Sx_ Y +|
X+l =1 X

\!

2) -6x +7(2x - 3)=-5-8x

..L%-\-\%X - = -5 - $X
X -2l = —S— X @
k=1 = -5 =X = /ﬂ

Solve for the specified letter.
3V = %Bh, forh

veeh o (-3

Solve the problem.
4) Bill swims at a speed of 6.6 mph in still water. The river he's in flows at a speed of 5.7 mph. How long will it
take Bill to swim 1.1 mi upstream? Round your answer to the nearest tenth of an hour, if necessary
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Find the function value.
x=-7

5) Find (2) when f() = 2.

6) Find g(a)-1 when g(x) =5x ~ 2. (Please simplify your answer)

4(6)-\ = ST —| =5a_3]|



7)Find g(a-1) wheng(x)=5x~-4.  (Please simplify your answer)
- 9(a-) = s(a-\) -4 =So.—-S-4 _—:M

Solve the problem.

8) The function h described by h(t) = -16t2 + 33.1t + 124.26 gives the height of a ball thrown upward with a speed
of 33.1 feet per second from a 124.26 ft high window t seconds after it is thrown until it hits the ground. Find
the height of the ball 1.8 seconds after it is thrown.
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Find the rate of change. Use appropriate units. (‘0 0 '
9) .

5,29

Distance
Traveled
in Miles

Number of Hours Spent Traveling

Solve the problem.
10) A deep sea diving bell is being lowered at a constant rate. After 8 minutes, the bell is at a depth of 400 feet.

After 45 minutes the bell is at a depth of 1300 feet. What is the average rate of lowering per minute?
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Solve for the specified letter.
/N 1)V=%Bh, forh

3v = B ,.g&\:z_g__x

Solve the equation.
2) 9x + 4(-2x - 3) = =2 - 9x

7)(—-%)(-\’2. = --»'L.""CiX
) :':;'L:Z?( loX =\
A5 X\ bl L =) ‘(Y\.:\S

3) 6x - (3x-1) =2

el =1 K=\ =a(><=33—}

Find the function value.
4)Find g(a-~1) wheng(x)=5x-2. (Please simplify your answer)

qa-Y =S@-y-1 =sa-s-1

=Sa .-’U

5)Find g(aj¢1  when g(x) =5x + 4. (Please simplify your answer)

Ye)+| = s0+4 | —_-—wg;d-SJ

6) Find f(-4) when f(x) = 6’;'+47.
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Solve for the specified letter.
/" pv-= -;-Bh, forh

V= gh —lh=Z

Solve the equation.
2)9x +4(-2x - 3) = -2 - 9x

I —BX—\2 = ~2~F X

¥ A\ =~;};‘7K loX = \©
e A L A9R =) ( )(._—;\S

36x-(3x-1)=2

2 =T 3=\ = :K:-% }

Find the function valae.
4)Find g(a-1) wheng(x)=5x-2. (Please simplify your answer)

9 (a-Y =5b-Y-1 = sa-5-1
::S’a__,—7J

5)Find g(a}+1  when g(x) =5x + 4. (Please simplify your answer)

Y&)+| = s04+4 | =—?&+SJ

x-4
6x+7°

g("{): -1 = :}i_m ,i ::L
ey 1 - )T

6) Find f(-4) when f(x) =

B-1
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Solve the problem.

8) A deep sea diving bell is being lowered at a constant rate. After 8 minutes, the bell is at a depth of 500 feet.

After 55 minutes the bell is at a depth of 1800 feet. What is the average rate of lowe
(8,509, (55,129 Ayl = BR—5="_ o L erk porion]

9) Bill swims at a speed of 6.7 mph in still water. The river e if flows at a speed of 2.1 mph. How long will it

take Bill to swim 1.7 mi uEstream'? Round your answer to the nearest tenth of an hour, if necessary.

lS—]—McL ‘hmﬂ- = Ds+mc& | 7 _ 0‘
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= 10) The function h described by h(t) = -16t2 + 33.1t + 124.26 gives the height of a ball thrown upward with a speed
of 33.1 feet per second from a 124.26 ft high window t seconds after it is thrown until it hits the ground. Find
the height of the ball 1.2 seconds after it is thrown.
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~Solve the equation.

S 1) 5x - (4x -~ 1) =2 5y — L\"?(‘\;"\ ="

2) -6x + 7(2x - 3) = -5 - 8x

-LK -+ \4’7\—1\ - -S - 83‘*

@R -l

Solve for the specified letter.
3)V =58h, forh

S moncis R SAT

_ AN

,’\ WAV WMA

s = Bl =)

,ﬂ} P, [

Solve the problem.
4) Bill swims at a speed of 6.6 mph in still water. The river he's in flows at a speed of 5.7 mph. How long will it
) take Bill to swim 1.1 mi upstream? Round your answer to the nearest tenth of an hour, if necessary.
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Find the function value.
-7
5) Find £(2) when f(x) = —53‘)-(—:6— £ | 2. 7
()= ..
| S()+6

6) Find g(a)-1 when g(x) =5x - 2. (Please simplify your answer)

e

3(0) =\ = Sa-2 —\ = Sa-3




7)Find g(a-1) wheng(x)=5x-4. (Please simplify your answer)

9(-1)= 5(a-) ¥ = Sa-5-¢ Z5a 9]

Solve the problem.

8) The function h described by h(t) = -16t2 + 33.1t + 124.26 gives the height of a ball thrown upward with a speed
of 33.1 feet per second from a 124.26 ft high window t seconds after it is thrown until it hits the ground. Find
the height of the ball 1.8 seconds after it is thrown.,
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Find the rate of change. Use appropriate units. ( 0 Q)
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Solve the problem.

10) A deep sea diving bell is being lowered at a constant rate. After 8 minutes, the bell is at a depth of 400 feet.
After 45 minutes the bell is at a depth of 1300 feet. What is the average rate of lowering per minute?
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'Solve the equation.

1) 7x - 3x - 1) =2 7)(__:‘3)(*.,\ =1

e

/ !
IX=t = (A= 7
2) -8x + 4(-3x - 4) =-31 - 5x ' e H—
—gX =W =\b = -3I-SX

’Zm}(“‘“\é” - '*‘“‘3‘ --»S)(

Solve for the specified letter.

3)V = %Bh, forh

A = 4 %,\,‘, ) %‘\ n o= :%gf)

N

amm::;mm#nm‘v%mmw‘

Solve the problem.
4) A deep sea diving bell is being lowered at a constant rate. After 10 minutes, the bell is at a depth of 600 feet.
After 50 minutes the bell is at a depth of 2000 feet. What is the average rate of lowering per minute?
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5) Bill swims at a speed of 4.9 mph in still water. The river he's in flows at a speed of 2.7 mph. How long will it
take Bill to swim 2.8 mi upstream? Round your answer to the nearest tenth of an hour, if necessary.
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Solve the problem.

7)

Find

gla+1)

F i RN g

when g(x) =4x + 1.
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(Please simplify your answer)

qwaa%? N4
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8) The function h described by h(t) = -16t2 + 33.1t + 124.26 gives the height of a ball thrown upward with a speed
of 33.1 feet per second from a 124.26 ft high window t seconds after it is thrown until it hits the ground. Find
the height of the ball 1.1 seconds after it is thrown.
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%ind the rate of change. Use appropriate units.
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9

Distance
Traveled
in Miles

Number of Hours Spent Traveling

Find the function value.

10) Find  ga) 1

¥

when g(x) =5x - 5. (Please simplify your answer)

H(ﬁ
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= So—5 —|
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